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Question Id : 6863403940 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



During my vist to Cuttack I participated in the birthday celebration of the late Justice Harthar Mahapatra. I
went there at the mvitation of justice Ranganath Mishra. For me, it was a revelation. how the independence
movement. the first vision for the nation. had created the larger-than-life figure of Justice Harthar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital. Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
gpeech the youngsters crowding around put forth many questions.

The first question was. 'Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said. 'Four books i my life have been very close to my heart. I cherish treading them. The first 1s Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular, children who dream of becoming doctors should read the book. They will learn that the

human body a mechanical system it is a very intelligant on with a most intricate and sensitive teedback
system. The second book. one I venerate, is Tiruvalluvar's Thirukkural, which provides an excellent code of
life. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran is. of course, a
constant companion.’

Sub questions

Question Number : 1 Question Id : 6863403941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative the book 'Man the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are integrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634015601. 1
68634015602. 2
68634015603. 3
68634015604. 4

Question Number : 2 Question Id : 6863403942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel

3. Justice Harthar Mahapatra
4. Lillian Eichler Watson

Options :

68634015605. 1
68634015606. 2
68634015607. 3
68634015608. 4

Question Number : 3 Question Id : 6863403943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruklairal

2

. The Holy Quran
3. Light from many lamps

4. Man the unknovwn

Options :

68634015609. 1
68634015610. 2
68634015611. 3
68634015612. 4

Question Number : 4 Question Id : 6863403944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that is an antonym to the word 'Conceal'
1. Ailment
2. Illuminate
3. Revelation
4. Sensitive
Options :

68634015613. 1
68634015614. 2



68634015615. 3
68634015616. 4

Question Number : 5 Question Id : 6863403945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that means "very complicated."
1. Highlight
2. Multi-pronged
3. Invaluable

4. Intricate

Options :

68634015617. 1
68634015618. 2
68634015619. 3
68634015620. 4

Question Id : 6863403940 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

During my vist to Cuttack I participated in the birthday celebration of the late Justice Harihar Mahapatra, I
went there at the invitation of justice Ranganath Mishra. For me, it was a revelation. how the independence
movement. the first vision for the nation, had created the larger-than-life figure of Justice Harthar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital, Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
speech the youngsters crowding around put forth many questions.

The first question was, 'Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said. 'Four books in my life have been very close to my heart. I cherish treading them. The first is Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular., children who dream of becoming doctors should read the book. They will learn that the
human body a mechanical system it 1s a very intelligant on with a most intricate and sensitive feedback
system. The second book. one I venerate, 1s Tiruvalluvar's Thirukkural, which provides an excellent code of
lite. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran is. of course. a
constant companion.'

Sub questions

Question Number : 1 Question Id : 6863403941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative the book 'Man the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are integrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634015601. 1
68634015602. 2
68634015603. 3
68634015604. 4

Question Number : 2 Question Id : 6863403942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel
3. Justice Harihar Mahapatra

4. Lillian Eichler Watson

Options :

68634015605. 1
68634015606. 2
68634015607. 3
68634015608. 4

Question Number : 3 Question Id : 6863403943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruklaaral

| ]

. The Holy Quran
3. Light from many lamps

4. Man the unknown

Options :



68634015609. 1
68634015610. 2
68634015611. 3
68634015612. 4

Question Number : 4 Question Id : 6863403944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find a word from the passage that 1s an antonym to the word 'Conceal'

1. Ailment

[

. Illuminate
3. Revelation
4. Sensitive

Options :

68634015613. 1
68634015614. 2
68634015615.3
68634015616. 4

Question Number : 5 Question Id : 6863403945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that means "very complicated."

1. Highlight
2. Multi-pronged
3. Invaluable
4. Intricate

Options :

68634015617. 1

68634015618. 2

68634015619. 3
68634015620. 4

Sub-Section Number : 2
Sub-Section Id : 686340119
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863403946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT Fill the blanks in List I with suitable prepositional phrases from List II

LISTI LISTII
A |l doubt if she got the job I JAt the very least
B. |They should give me myv moneyv back or offer to exchange the shoeg| II. |On balance
C. |l thought 1 understood 1t, but I realized it was more complicated I |On merit
D. [ would say that, . the best thing is to do nothing for the moment IV, |On reflection

Choose the most appropriate answer from the options given below:

1. A-TII. B-IV. C-II. D-I

[ B

CA-L B-1III, C-IT. D-IV
3. A-IL B-1, C-IV. D-II
4. A-I1, B-IV. C-II1. D-I

Options :

68634015621. 1
68634015622. 2
68634015623. 3
68634015624. 4

Question Number : 6 Question Id : 6863403946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT Fill the blanks in List I with suitable prepositional phrases from List II

LISTI LISTII
A |l doubt if she got the job I JAt the very least
B. |[They should give me my monev back or offer to exchange the shoes| II. |On balance
C. |l thought 1 understood it, but I realized it was more complicated III. |On merit
D. |l would say that, . the best thing 1s to do nothing for the moment IV |On reflection

Choose the most appropriate answer from the options given below:

1. A-TIIL. B-IV. C-II. D-I

| )

CA-L B-III. C-I1, D-IV

%]

AL B-1L C-IV. DAII
4. A-I1, B-IV, C-III, D-I

Options :

68634015621. 1
68634015622. 2
68634015623. 3
68634015624. 4

Question Number : 7 Question Id : 6863403947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Accepting something unpleasant when one can not avoid of os:

1. Take a Bull by the horn

[

. In the blues
3. Black and white

4. Bite the bullet

Options :

68634015625. 1
68634015626. 2
68634015627. 3
68634015628. 4

Question Number : 7 Question Id : 6863403947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Accepting something unpleasant when one can not avoid of os:

1. Take a Bull by the horn

2=

. In the blues

LF¥]

. Black and white

4. Bite the bullet

Options :

68634015625. 1
68634015626. 2
68634015627. 3
68634015628. 4

Question Number : 8 Question Id : 6863403948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Normally. a hair allowed to grow uncut will last from two to six year

B.

mEm

These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that
grows from them is reduced

. But as boldness sets in. the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it in reduced to fuzz

. The exact genetic code that causes boldness and thinning still eludes researchers, but they know it is has
something to do with make sex harmone called androgens

Choose the most appropriate answer from the options given below:

1

5

3

4

A B

B, C,D,AE

E.B.A,C.D

E.B.C.D.A

Options :

68634015629. 1
68634015630. 2
68634015631. 3
68634015632. 4

Question Number : 8 Question Id : 6863403948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Normally. a hair allowed to grow uncut will last from two to six year

B.

uRvNe!

These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that
grows from them is reduced

. But as boldness sets in. the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it m reduced to fuzz

. The exact genetic code that causes boldness and thinming still eludes researchers. but they know it 1s has
something to do with make sex harmone called androgens

Choose the most appropriate answer from the options given below:

1

-J

_1

.D.C.A.B.E

B C,DAE

D Befe D

:E,B,C,D, A

Options :

68634015629. 1
68634015630. 2
68634015631. 3
68634015632. 4



Question Number : 9 Question Id : 6863403949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the options below this sentence should replace it to make it grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

[

. My decision to buy an electric car was motivated by economic consideration

L¥%]

. My decision to buy an electric car was motivated by economical considerations
4. No correction

Options :

68634015633. 1

68634015634. 2

68634015635.3
68634015636. 4

Question Number : 9 Question Id : 6863403949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the options below this sentence should replace it to make it grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

2

. My decision to buy an electric car was motivated by economic consideration

%]

. My decision to buy an electric car was motivated by economical considerations

4. No correction

Options :

68634015633. 1
68634015634. 2
68634015635.3
68634015636. 4

Question Number : 10 Question Id : 6863403950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An explosive for firing a bullet or a rocket 1s:

1. Putsch

[

. Prosody

T

. Propellant
4. Pulmonary

Options :

68634015637. 1
68634015638. 2
68634015639. 3
68634015640. 4

Question Number : 10 Question Id : 6863403950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An explosive for firing a bullet or a rocket 1s:

1. Putsch

[

. Prosody

L¥%]

. Propellant
4. Pulmonary

Options :

68634015637. 1
68634015638. 2
68634015639. 3
68634015640. 4

Question Number : 11 Question Id : 6863403951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A certain sum fetched simple interest of 23200 at the rate of 6.25% per annum in 4 years. What 1s the sum?
1.313000
2.312800
3.212500
4, 212000

Options :
68634015641. 1
68634015642. 2



68634015643. 3
68634015644. 4

Question Number : 11 Question Id : 6863403951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum fetched simple interest of 23200 at the rate of 6.25% per annum in 4 years. What 1s the sum?

1. 213000

[

. 212800
3. 212500
4. 212000

Options :

68634015641. 1
68634015642. 2
68634015643. 3
68634015644. 4

Question Number : 12 Question Id : 6863403952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks, Find the maximum marks of the test.

1. 50

| B

. 80
3. 100
4. 150

Options :

68634015645. 1
68634015646. 2
68634015647.3
68634015648. 4

Question Number : 12 Question Id : 6863403952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks. Find the maximum marks of the test.

1. 50

2. 30

3.100

4. 150
Options :
68634015645. 1
68634015646. 2

68634015647. 3
68634015648. 4

Question Number : 13 Question Id : 6863403953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . 9 . . . .
If a man increases his speed to — times his usual speed. he reaches his office 24 minutes before the office

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

-2

. 52 minutes
3. 54 minutes

4. 55 minutes

Options :

68634015649. 1
68634015650. 2
68634015651. 3
68634015652. 4

Question Number : 13 Question Id : 6863403953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. : 9 . : . .
If a man increases his speed to — times his usual speed, he reaches his office 24 minutes before the office
J

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

|

. 52 minutes
3. 54 minutes
4. 55 minutes

Options :

68634015649. 1
68634015650. 2
68634015651. 3
68634015652. 4

Question Number : 14 Question Id : 6863403954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

43 | | %
The value of ==- 3+ i is

Options :

68634015653. 1
68634015654. 2
68634015655. 3
68634015656. 4

Question Number : 14 Question Id : 6863403954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



43 ]
The value of Z-/3+—|-|2-

"
$
|
(=]
|
e | =]

[
e
~1

4. 2.7

Options :

68634015653. 1
68634015654. 2
68634015655.3
68634015656. 4

Question Number : 15 Question Id : 6863403955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a right circular cylinder a height 14em is increased in a sphere of radius 8cm then volume of the cylinder

, 17
(in.em®)- (use 7 = =)

1. 110

| ]

. 220
3.440

4. 600

Options :

68634015657. 1
68634015658. 2
68634015659. 3
68634015660. 4

Question Number : 15 Question Id : 6863403955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a right circular cylinder a height 14em 1s increased in a sphere of radius 8cm then volume of the cylinder
b i)

(in.em”)- (use r==).

1. 110

| ]

220
3.440

4. 600

Options :

68634015657. 1
68634015658. 2
68634015659. 3
68634015660. 4

Question Number : 16 Question Id : 6863403956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1), (2), (3) and (4) completes the figure matrix:

AAA| T | AA

Q0 O

TL|A | T

Qcx | 9

P

AA

L A

b

Options :

68634015661. 1
68634015662. 2
68634015663. 3
68634015664. 4

Question Number : 16 Question Id : 6863403956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1), (2), (3) and (4) completes the figure matrix:

AAA| T | AA

Q0 O

TL|A | T

Qcx | 9

P

AA

L A

b

Options :

68634015661. 1
68634015662. 2
68634015663. 3
68634015664. 4

Question Number : 17 Question Id : 6863403957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph, Aman tells his friend. "she 1s the grand daughter of the elder brothers of my father.
"How is the girl in the photograph related to Aman?

1. Sister
2. Maternal Aunt
3. Niece

4, Aunt

Options :

68634015665. 1
68634015666. 2
68634015667. 3
68634015668. 4

Question Number : 17 Question Id : 6863403957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph, Aman tells his friend. "she is the grand daughter of the elder brothers of my father.
"How is the girl in the photograph related to Aman?

1. Sister
2. Maternal Aunt
3. Niece
4, Aunt
Options :
68634015665. 1
68634015666. 2

68634015667. 3
68634015668. 4

Question Number : 18 Question Id : 6863403958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What should come in place of the questions mark?

11,20, 38, 74 ?

1. 146

2

. 154

3.128

4. 136



Options :

68634015669. 1
68634015670. 2
68634015671. 3
68634015672. 4

Question Number : 18 Question Id : 6863403958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What should come in place of the questions mark?

11, 20, 38, 74 7

1. 146

| ]

. 154
3.128

4. 136

Options :

68634015669.
68634015670.
68634015671.
68634015672.

AW N —

Question Number : 19 Question Id : 6863403959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The giving statement 1s followed by three arguments. Decide which of the options is correct about the given
arguments.

Statements: Should seniority be only criterion for promotion in MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
II1. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.TandII

| )

I and 111

%]

. Only III
4. OnlyI
Options :

68634015673. 1
68634015674. 2



68634015675. 3
68634015676. 4

Question Number : 19 Question Id : 6863403959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The giving statement 1s followed by three arguments. Decide which of the options is correct about the given
arguments.

Statements: Should seniority be only criterion for promotion in MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
III. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.Iand IT
2. II and III
3. Only III
4. Only I
Options :
68634015673. 1
68634015674. 2

68634015675.3
68634015676. 4

Question Number : 20 Question Id : 6863403960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If QUALITY is coded as 8313927, then GOVERNMENT is coded as:

1. 7645954551

| S

. 7645954552
3. 7645954452
4, 8645954552

Options :

68634015677. 1
68634015678. 2
68634015679. 3
68634015680. 4

Question Number : 20 Question Id : 6863403960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
If QUALITY is coded as 8313927, then GOVERNMENT is coded as:

1. 7645954551

| S

. 7645954552
3. 7645954452
4. 8645954552

Options :

68634015677. 1
68634015678. 2
68634015679. 3
68634015680. 4

Question Number : 21 Question Id : 6863403961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Name of Padma Vibhushan Awarded Awarded in the service
A PMs. Prabha Atre I | Public Affairs
B. Mr Kalvan Singh IT. |Literature and Education
C. Mr. Radheyshvam Khemka III. |Civil Service
D |General Bipin Rawat IV |Art

Choose the most appropriate answer from the options given below:

1. A-I. B-III, C-IV. D-II

[ ]

CA-IV, B-1, C-IIIL. D-II
3. A-IV, B-1. C-I1, D-III
4, A-L. B-IV, C-II, D-III

Options :

68634015681. 1
68634015682. 2
68634015683. 3
68634015684. 4

Question Number : 21 Question Id : 6863403961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Name of Padma Vibhushan Awarded Awarded in the service
A Ms. Prabha Atre I | Public Affairs
B. PMr Kalvan Singh II. |[Literature and Education
C. Mr. Radheyshvam Khemka III. |Civil Service
D. |General Bipin Fawat IV, |Art

Choose the most appropriate answer from the options given below:

1. A-I. B-III. C-IV, D-II

[ ]

CA-TV, B-1. C-I11. D-I1
3. A-IV, B-1. C-II. D-III
4. A-1. B-IV. C-II. D-111

Options :

68634015681. 1

68634015682. 2

68634015683. 3
68634015684. 4

Question Number : 22 Question Id : 6863403962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Date of launching of satellite 'Aryabhatta’' is

1. 7 June, 1979

2

.19 April, 1975

[F%]

.19 June, 1953
4. 07 April, 1981

Options :

68634015685. 1
68634015686. 2
68634015687. 3
68634015688. 4

Question Number : 22 Question Id : 6863403962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Date of launching of satellite 'Aryabhatta’ is

1. 7 June, 1979

[

.19 Apnil, 1975

Taa

.19 June, 1953

e

.07 April, 1981

Options :

68634015685. 1
68634015686. 2
68634015687. 3
68634015688. 4

Question Number : 23 Question Id : 6863403963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Due to disease' Pneumonia'. lungs of the human body are affected.
Statement II: Lungs of human body are also affected due to disease Diptheria’
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement I is incorrect
4. Statement I is incorrect but Statement II 1s correct
Options :
68634015689. 1
68634015690. 2

68634015691. 3
68634015692. 4

Question Number : 23 Question Id : 6863403963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Due to disease' Pneumonia'. lungs of the human body are affected.

Statement II: Lungs of human body are also affected due to disease Diptheria’

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

-J

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement I1 is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634015689. 1
68634015690. 2
68634015691. 3
68634015692. 4

Question Number : 24 Question Id : 6863403964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Passport Sewa Diwas 1s celebrated on which day?

1. 12 March

b2

. 24 June
3. 18 May
4. 20 April

Options :

68634015693. 1
68634015694. 2
68634015695. 3
68634015696. 4

Question Number : 24 Question Id : 6863403964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Passport Sewa Diwas 1s celebrated on which day?

1. 12 March

[

. 24 June
3. 18 May
4. 20 April

Options :

68634015693. 1
68634015694. 2
68634015695. 3
68634015696. 4

Question Number : 25 Question Id : 6863403965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 210.000 to 325.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present ¥5.000 to ¥15.000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:

1. A and B only

| B

.A. Cand D only
3.A Band Conly

4. A. B. Cand D only

Options :

68634015697. 1
68634015698. 2
68634015699. 3
68634015700. 4

Question Number : 25 Question Id : 6863403965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 210.000 to 325.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present 35.000 to 215.000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:
1. A and B only
2. A CandD only
3. A.Band C only

4. A. B. Cand D only

Options :

68634015697. 1
68634015698. 2
68634015699. 3
68634015700. 4

Part B: B Ed Languages

Section Id : 68634080
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340120
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863403966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafed 7§ 9 wel gm sifet-

A BER  -Hd BHid

B. WGl - Yol ®id

c.gudl -ddofd

D. JIaN - Hdd Bid

E.Ql -Hd®fd

41 f3u U fasbedl & 4 Tl Iuged Sk &l 994 Sifey
1. PAAATIC

2. $adBUAE

3.PauCUEID

4. BAAA.B.D.E

Options :

68634015701. 1
68634015702. 2
68634015703. 3
68634015704. 4

Question Number : 26 Question Id : 6863403966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafad & O agt gm sifcu-
A BER  -HdHid
B.9gdl - gwl ®fd
c.gudl -ddfa
D. IREN - Had Bid
E.Ql -dd®ig
41 f3u U fasbedl & 4 wed Iuged Sk &l 994 Sifeiy
1. Pad AT C
2. PaUBUGE
3.$adCUID

4. BAAA.B.D.E

Options :

68634015701. 1
68634015702. 2
68634015703. 3



68634015704. 4

Question Number : 27 Question Id : 6863403967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafaRea & ¥ oH-I v fogm 31 v T g-

1.3dY

[

N E]
L HIg
4. dfAH

Options :

68634015705. 1
68634015706. 2
68634015707. 3
68634015708. 4

Fad

Question Number : 27 Question Id : 6863403967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad o 9 $H-Tt v fose o vge IR §-

1.%dd

[ )

R

41
4. W@AH

Options :

68634015705. 1
68634015706. 2
68634015707. 3
68634015708. 4

L¥%]

Question Number : 28 Question Id : 6863403968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fe Py ey E o fieyT A S EU H ffEd 8 @ ORI SUS FRUR F A H -

HMHYT A: T YA B ey YT IR USRS 8ld 5

PR R: AW, AW, WIaweE. [dulfaaden |
SURIGR HY @ el U, A fGu T faseedl T ¥ 9a9 SUgad SR &1 99 Hiolg -

1.ASMRR A TS € R R A DI TSI AT &
2. A 3R R I Tt § ST R, A BT YT e e &
3. ATEI e dfT R TEl AT ®

4. AGEI ST S APIR TE B

Options :

68634015709. 1
68634015710. 2
68634015711. 3
68634015712. 4

Question Number : 28 Question Id : 6863403968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el Py fey T E o afireyT A S E H ffed § O GO ST FRUR F EAH -
SHHYUT A: TF 3UTT T 1 2P Y 976 IR YHR & Bld o
DR R: GHEYYM, UL, TaguuT. fgufdanur|
SRl HY- o 3l H, i fGu T fabedi # I 9ad Sugad 3R &1 99 DIl -
1. A R R M 98l & SR R. A | el IR &
2. A 3R R A U6l § SIR R, A 1 Wt e e §
3. A¥gl g Al R el 6l §
4. AR TEl S AR W8l ©
Options :
68634015709. 1
68634015710. 2

68634015711. 3
68634015712. 4

Question Number : 29 Question Id : 6863403969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafalea & ¥ enfdaras g9 e -
1. gl
g
i
4,99
Options :
68634015713. 1
68634015714. 2

68634015715.3
68634015716. 4

[ )

L¥%]

Question Number : 29 Question Id : 6863403969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafaiad @ wifdaras 93 e -

1. gl

e

e
4. 981

Options :

68634015713. 1

68634015714. 2

68634015715.3
68634015716. 4

| )

%]

Question Number : 30 Question Id : 6863403970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S AT A TAE]
@Y I: L. HRAT. IIUlg Bl & AH 5|
@Y 11: gRATTdeT Wi U YR &1 ©2 81 gs JliHD 4 84 ¢
SURIGR HY D el U, A 4T T fawedl O ¥ 9ad SUged 3R $1 99 Hiolt-
1. BT 1 IR BYFT 1 EHI T8l &
2. Y1 3R HYA 11 SIH1 7Teid &
3. DY UG §. A= DY Tad &
4. DY 5. AP YT B §

Options :

68634015717. 1
68634015718. 2
68634015719. 3
68634015720. 4

Question Number : 30 Question Id : 6863403970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g By AU e g -

@Y I: el HRAI. IUlg $al & A |

BY I1: BT Hi U UPR @1 ¥ 81 I8 HIiA® 90 B o

SWRId ®U & 3fTelis . e fAU U fae el 9 969 Sugad 9k &1 994 Siiuit-
1. BT 1 AR U 11 ST G €
2. BYA 1 IR BYF 11 HI Tad &
3. Y1 B! §. A= HUT 11 7Tdd &
4. PYF 1T 5. AP PYT I e ©

Options :

68634015717. 1
68634015718. 2
68634015719. 3
68634015720. 4

Question Number : 31 Question Id : 6863403971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad are o oH-91 $Re b W a1 1 g
A TSt ¥ A T
1. B0 HRD
2. GeY PRD
3. 3UIEH HRS
4. GYgH RS
Options :
68634015721. 1
68634015722.2

68634015723.3
68634015724. 4

Question Number : 31 Question Id : 6863403971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Fafeied o ¥ -1 SR &g vged a1 g
AT ST W He ™ T
1. BV BRP
2. U§Y PR
3. 3{UTGH RS
4. UEH PRT
Options :
68634015721, 1
68634015722, 2

68634015723. 3
68634015724. 4

Question Number : 32 Question Id : 6863403972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

a1 T I
G 1 [Ag Heil
SMTUHT S I1. |3Fded AR
Y @I ed | 1L g
NE U@ wiaH IV, |3

afaiad [doedi § O gl 3R &1 99 DIl -

1. A-TII, B-II, C-I, D-IV

ofa[w]»

2. A-1, B-II, C-IIL, D-IV
3. A-TV, B-III., C-II, D-I
4, A- 111, B-1, C-II, D-IV

Options :

68634015725 1
68634015726. 2
68634015727. 3
68634015728. 4

Question Number : 32 Question Id : 6863403972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 g2 11 ¥ faH Sy
a1 T I

A JTicH 1 |5y HEr

B. s & I1. [efaard IR

C. EFE®IEY |1l [Uddg

D. [Fr® w@ Sia| 1V [T

Fafaiad [deedi § 9 gl 3R &1 99 Difold -

1. A-TII, B-IL C-I, D-IV
24T BT O DIV
3. A=TV B C-IT. D
4. A-TII, B-1, C-II, D-IV

Options :

68634015725, 1

68634015726. 2

68634015727. 3
68634015728. 4



Question Number : 33 Question Id : 6863403973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafed & ¥ sig e Sifet-

1. 9RIIS SR

2. JwdC

3. dicddlel

A, ST
Options :
68634015729. 1
68634015730. 2

68634015731. 3
68634015732. 4

Question Number : 33 Question Id : 6863403973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeiad o ¥ 3igg res Bifet-

1. RIS ER

2. 3=ad
3, graeTTa
4. ST

Options :

68634015729. 1
68634015730. 2
68634015731. 3
68634015732. 4

Question Number : 34 Question Id : 6863403974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o Py ey T E T aufiimyT A S T H ffGd § O SR SUS SRUR F I T
AU A U @@ Tpdl &1 T8 B
®RUIR: 581 Y @ & quf, ez 3R 11 a2t &1 3iauia gl s g
SURIGR HY @ el U, A fGu T faseedl T ¥ 9a9 SUgad SR &1 99 Hiolg -
1. A 3R R T 951 & SR R. A S ol AT 3
2. A SRR S T8I € SRR A DI U AT 76 3
3. AYe! ¢ dfch-T R Hel T8l o
4. AGEI T8l B APIR W ©
Options :
68634015733. 1
68634015734. 2

68634015735. 3
68634015736. 4

Question Number : 34 Question Id : 6863403974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H gl Py ey T . T afireyT A B S H fGfGd § O ORI S9S PRUR F =T H
HFAGHUT A: T @ Hapdl &1 998 B
BRUIR: 3 F @i H qul, g 3R {11 it 1 Sfauia g1 o g
SRl HY- o 3l H, i fGu T fabedi # I 9ad Sugad 3R &1 99 DIl -
1. A R R M 981 & SR R. A S Hel IR 3
2. A SRR S O € IR R, A D! WEl @ Tl §
3. A¥gl g Al R el 6l §
4. AR TEl S AR W8l ©
Options :
68634015733. 1
68634015734. 2

68634015735.3
68634015736. 4

Question Number : 35 Question Id : 6863403975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o Py ey T E T aufiimyT A S T H ffGd § O SR SUS SRUR F I T
HIYHYT A: Plhed,dod H=I.ared 3 e @i & Ug 5
HRUTR: Sod -0l HoR ag & e U IR gl ¢
SURIGR HY @ el U, A fGu T faseedl T ¥ 9a9 SUgad SR &1 99 Hiolg -
1. A 3R R T 951 & SR R. A S ol AT 3
2. A SRR S T8I € SRR A DI U AT 76 3
3. AYe! ¢ dfch-T R Hel T8l o
4 AUEI TRl g APIR WEI ©
Options :
68634015737. 1
68634015738. 2

68634015739. 3
68634015740. 4

Question Number : 35 Question Id : 6863403975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H gl Py ey T . T afireyT A B S H fGfGd § O ORI S9S PRUR F =T H
HIUHUT A: Plohed,dod H=I.dreed i o @i & U 5
HRUIR: Hod @G-al HoR arg & e U I I=Rd gl o
SRl HY- o 3l H, i fGu T fabedi # I 9ad Sugad 3R &1 99 DIl -
1. A R R M 981 & SR R. A S Hel IR 3
2. A SRR S O € IR R, A D! WEl @ Tl §
3. A¥gl g Al R el 6l §
4 AUEI TRl g APIR WEI ©
Options :
68634015737. 1
68634015738. 2

68634015739. 3
68634015740. 4

Question Number : 36 Question Id : 6863403976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il 101 Tl 11 ¥ [ Sifor -

g1 T 11
A RFARd 5 I |3mcarg
B. |[g7g ufFd 11 [t
C. [pyHe 111 {334
D. [Hidi® HgHg S]] IV, [§SHTH

Fafaiad [deedl § O Ogl 3R &1 904 Dol -

1.A-LBIL CIll. DIV
2. A&=TV, B-IM, C-IT, DA
3. A-TII, B-IV, C-I. D-TI
4. A-1, B-III, C-IV, D-II

Options :

68634015741, 1

68634015742, 2

68634015743. 3
68634015744. 4

Question Number : 36 Question Id : 6863403976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 =i 11 9 e Sife -
g1 T 11

A REDRd 79 I |33

B. |[g7g ufFd 11 [t

C. [pre™ 111 [3qe

D. [Hidi® HgHg S]] IV, [§SHTH

Fafaiad [deedl § O Ogl 3R &1 904 Dol -

1.A-1L.BIL CH. DIV
2. A=TV, B-ITI, C-IT, D1
3. A-TII, B-IV, C-I D-TI
4. A-1, B-III, C-IV, D-II

Options :

68634015741, 1

68634015742, 2

68634015743. 3
68634015744. 4



Question Number : 37 Question Id : 6863403977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafaied @ ¥ oigg ad-l &1 Wsa BITCL-

1. 3R]
2. &F41dl
3.d4:hH
4. fbaddt

Options :

68634015745. 1

68634015746. 2

68634015747. 3
68634015748. 4

Question Number : 37 Question Id : 6863403977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeied o ¥ oigg ad-il &1 sa BITCL-

1. 3R]
2. &F41dl
3.d4:hH
4. fbaddt

Options :

68634015745. 1

68634015746. 2

68634015747. 3
68634015748. 4

Question Number : 38 Question Id : 6863403978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S IERALAICACUEI
BYA I I JHD, Gad, Wiy IS YsEADR & IaeRu g |

YT [1: ITHLEUD 3R IdeT ufdeRr gl
SURIGR HY @ el U, A fGu T faseedl T ¥ 9a9 SUgad SR &1 99 Hiolg -

1. HYF 1 R BT ST T8l §
2. BYF 1 3R HYF 11 S T §
3. ®YF [ ol 5. Al HYF I 7TAd §
4, BYT TG 3, AT FUT I TRl ©

Options :

68634015749. 1
68634015750. 2
68634015751. 3
68634015752. 4

Question Number : 38 Question Id : 6863403978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THg Py fumU -

DY U, IHD, GS(a0, T 311G YsaPR & Saevl gl

FYA [1: ITALEUS 3R T HUfddR 2
SWRIGd ®U & 3HTelie 4, i fau U faeeul & 9 969 Sugad 9ok &1 98- HiulU -

1. BT 1 AR U 11 ST G €
2. BYA 1 IR BYF 11 HI Tad &
3. Y1 B! §. A= HUT 11 7Tdd &
4. PYF 1T 5. AP PYT I e ©

Options :

68634015749. 1
68634015750. 2
68634015751. 3
68634015752. 4

Question Number : 39 Question Id : 6863403979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafeied o § & H-91 9190 95U (a1 &1 Iaeu T8l ¢ -
. SRATH d @RI |

ja—y

.1 = Gl &1 JRT

[ )

. g Tt ol gr ot

L¥%]

=Y

 HIg 4&I Ug I 8|

Options :

68634015753. 1
68634015754. 2
68634015755. 3
68634015756. 4

Question Number : 39 Question Id : 6863403979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafed § § o .91 990 Yode 501 31 3o g € -
. SRATH d @RI |

ja—y

.1 = Gl &1 JRT

[ )

. g Tt ol gr ot

L¥%]

=Y

 HIg 4&I Ug I 8|

Options :

68634015753. 1
68634015754. 2
68634015755. 3
68634015756. 4

Question Number : 40 Question Id : 6863403980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frofafea § ¥ wel gm sifeu.-

A. Saqd fqerg- A= =l
B. TRU( ATeg- TRAT I
C. STHI%- dEegd I

D. FgeRalg- GedRTl Il

1= fldu T fasedl & O Il Iugdd STk &1 90 HIfeU -
1. Do ATGB

. PAdATID

. HAdB A C

| ]

%]

4. FdACUID

Options :

68634015757. 1
68634015758. 2
68634015759. 3
68634015760. 4

Question Number : 40 Question Id : 6863403980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafea § @ wel gm sifeu -

A. So9d fqerg- A 4!
B. RUld ATeg- YT -1
. ofAd. dadcd Tl

D. dgaxals- QR I

- AU e famedl # ¥ 9ad SUgad SR &1 90 DI -
1. PAd AUGB

. HAdATID

A BTG C

| ]

L]

4. FAACUID

Options :

68634015757. 1
68634015758. 2
68634015759. 3
68634015760. 4



Question Number : 41 Question Id : 6863403981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &l Py [T U §, Ud S{iGy— A & &0 ¥ [alad § di g1 3HP PRUR & &Y H
HTBYA A: oo d quf €. o1 =Ry @RI &1 Seral Y e ¢ |
SR R: WU WeiA B1d § 3R SHoau] TR R 3METE |
SRl HY- o 3l H, i fGu T fabedi # I 9ad Sugad 3R &1 99 DIl -
1. A R R M 981 & SR R. A S Hel IR 3
2. A 3R R A Ul § SIR R, A 1 Ut o el ©
3. ATel ¢ did- R el ol o

4. AGEI ST S AP R TR R

Options :

68634015761. 1
68634015762. 2
68634015763. 3
68634015764. 4

Question Number : 41 Question Id : 6863403981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 gl P2 (U U §, Us Siiey= A & &0 ¥ [alad & di gIR1 3HP PRUIR & &Y H
HTpYA A: oo d quf €. o1 SRy @RI &1 Seral Y e ¢ |
SR R: WRAU WeA Bld § 3R Soau] TR R 3MHT ¢ |
SWRIGd HY o 3l H, - fGu Tt fabedi # I 9ad Sugad 3R &1 99 DI -
1. A ¥R R 3 98l € SR R. A S Hel e 3
2. A SRR G U8l & 3R R, A DI UE! AR 6l &
3. ATEI S AfpTR U TET B
4. AR TEl §APIR Tl ©

Options :

68634015761. 1
68634015762. 2
68634015763. 3
68634015764. 4




Question Number : 42 Question Id : 6863403982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafefad 5 9 duga Weg BifeT -

1. SHHIGHET

[ ]

Hdd

3. 3
4. 318

Options :

68634015765. 1
68634015766. 2
68634015767. 3
68634015768. 4

Question Number : 42 Question Id : 6863403982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad 7 9 dga Tss Biic -

1. S{HIGHET

[ ]

Hdd

3. 3
4. 318

Options :

68634015765. 1
68634015766. 2
68634015767. 3
68634015768. 4

Question Number : 43 Question Id : 6863403983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafiRed & § ®H-91 Syard &1 3416 -
1. el 93 B &1 715 §

. F= P GRI R JEE S|

asfEEa fa M gl

. IBHH & GRI YT 3818 ol 36l g

[ )

L¥%]

=S

Options :

68634015769. 1
68634015770. 2
68634015771. 3
68634015772. 4

Question Number : 43 Question Id : 6863403983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeiaa @ § ®1H-91 Sy $1 38630 6-
1. RS de B A TE gl
. §=d1 & gRI TR H=E S|
- asfeal ia mE g

. IBHH & §RIYdT 3T of 36l B

| )

%]

e

Options :

68634015769. 1
68634015770. 2
68634015771.3
68634015772. 4

Question Number : 44 Question Id : 6863403984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafied § 9 9ol $id 761§ -
A. e
B. H3lH
C. SITat
D. BER

i< fAU U faoedl © O 9 SUged SR &1 997 DIy

1.®%dd A 3R ¢
2.%ad B3R C
3.%ad C 3R D
4.%dd D

Options :

68634015773. 1

68634015774. 2

68634015775. 3
68634015776. 4

Question Number : 44 Question Id : 6863403984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[afeied ¥ & gl ®fd 78l © -
A B
B. HH
C. Srgdt
D. PaRR

193U Tt fasedl § O Yl Iugdd STk &1 94 Hifeu
1.%ad A3R C
2.%ad B 3R C
3.%0d C 3R D
4.%4qd D

Options :

68634015773. 1
68634015774. 2
68634015775. 3
68634015776. 4




Question Number : 45 Question Id : 6863403985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ffaiad J SIH-91 odo Ygdd oo © -

1.9

[ )

.Y
3.4
4. &

Options :

68634015777. 1
68634015778. 2
68634015779. 3
68634015780. 4

Question Number : 45 Question Id : 6863403985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRREd H BIH-91 o SR oo ¢ -

1LY

2.9

L¥%]

Y

4.8

Options :

68634015777. 1
68634015778. 2
68634015779. 3
68634015780. 4

Question Number : 46 Question Id : 6863403986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeied J ¥ fefag-dedd I= ad-! &1 90 i
1. i

. fermferit

fesis

4. DIHAIRTHE

[ )

L¥%]

Options :

68634015781. 1
68634015782. 2
68634015783. 3
68634015784. 4

Question Number : 46 Question Id : 6863403986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeafad d 8 fau-ged ge ad-l o1 =g i
1. et
RERIIEE]
feris
4. DI

| )

%]

Options :

68634015781. 1
68634015782.2
68634015783. 3
68634015784. 4

Question Number : 47 Question Id : 6863403987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiad areai & HHaR s0aedd Hif-

A T8 TIRd ®I 91d
B. Ffa-eq w@H g
C. STETd

D. Jgl §8]

E. QR IRI ARl U

1= fqu T fasedl § O Yl Iugdd GoR &1 997 Sifel

1. AB.CD.E

[ )

B AEDE
3.E.C.D.A.B
4, C.,E.D.A.B

Options :

68634015785. 1
68634015786. 2
68634015787. 3
68634015788. 4

Question Number : 47 Question Id : 6863403987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad areai & HHAR SOayd HIf-

A T8 TIRd ®I 91d
B. Rfg-gq W@ 7w
C. T

D. U8l §8]

E. QR IRI ARl U

1= fqu T fasedl § O Yl Iugdd GoR &1 997 Sifel

1. AB.CDE
2Z2BAEDC
FE.C.D,AB
4. C.E.D.A B
Options :
68634015785. 1
68634015786. 2

68634015787. 3
68634015788. 4



Question Number : 48 Question Id : 6863403988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 g2 11 9 e Sife -
el 1 T 10
A lEH R I |FRY® ad S
B. [37Tferat o¥ Fam 1. [@g®mF
C. e s 11 [ 5 &3
D. [ba T X U 3@ IV. [H19-[TdR 3 GayFi Gdd BrH S
“gfaRad faswedi § O 981 SR &1 994 Hifert -

1. A-T, B-II. C-III, D-IV
2. A-TV. B-III. C-II. D-I
3. A-1I, B-1II, C-I, D-IV
4. A-TIT, B-II, C-IV. D-I

Options :

68634015789. 1
68634015790. 2
68634015791. 3
68634015792. 4

Question Number : 48 Question Id : 6863403988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 g2 11 9 e Sife -
el 1 T 10
A [BH W L |FRd® s d &
B. [Tl WX 9T I @
C. [id sorn 101 [@=1 5 3
D. [b® hdh B R 3G V. [§T9-[99R B GauHi Yo HH S|
frafaiad faeedi § O 981 TR &1 904 Difert -

1. A-1. B-II. C-III. D-IV
2. A-TV. B-III. C-II. D-I
3. A-1I, B-1II, C-I, D-IV
4. A-TIT, B-II, C-IV. D-I

Options :
68634015789. 1



68634015790. 2
68634015791. 3
68634015792. 4

Question Number : 49 Question Id : 6863403989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frrafeiRad areai & HHaR sy -

A ST ®IH ©

B. 3T

C. T TEUN -

D. 3dcl ded HdiH

E. HYH oo 39 favg

1= fdu T fasedl & O Ul Sugdd STk &1 99 Il -

1. ABCDE

[ )

BACED
3.JEED.C.AB
4. B.D.C.A.B

Options :

68634015793. 1
68634015794. 2
68634015795. 3
68634015796. 4

Question Number : 49 Question Id : 6863403989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafad g &1 HHaR s -

A ST ®IH ©

B. 34T

C. T TEUN -

D. 3dc] ded HaiH

E. HYH oo 39 favg

1= fdu T fasedl & O Ul Sugdd STk &1 99 Il -

1. ABCDE

[ )

B ACED
3.E.D,C.A B
4. B.D.C.A.B

Options :

68634015793. 1
68634015794. 2
68634015795. 3
68634015796. 4

Question Number : 50 Question Id : 6863403990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafied § 9 ®F W 94 1 48 781 3

1. 414

A0

3. oo

.72

Options :

68634015797. 1
68634015798. 2
68634015799. 3
68634015800. 4

[ )

Question Number : 50 Question Id : 6863403990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad § ¥ o TR I &1 98 T8 8
1. d1d

2,770

3. oo

T3

Options :

68634015797. 1
68634015798. 2
68634015799. 3
68634015800. 4

Question Number : 51 Question Id : 6863403991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional rainwater harvesting in rural areas is done by using surface storage bodies, like lakes,

ponds. irrigation tanks. ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use

Rain water harvesting is

1. Conventional skill

b2

. Recently developed need based technique
3. Communal Activity

4. Individual concemn

Options :

68634015801. 1
68634015802. 2
68634015803. 3
68634015804. 4

Question Number : 51 Question Id : 6863403991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional rainwater harvesting in rural areas is done by using surface storage bodies, like lakes.
ponds. irrigation tanks, ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use



Rain water harvesting 1s

1. Conventional skill

2=

. Recently developed need based technique
3. Comununal Activity

4. Individual concern

Options :

68634015801. 1
68634015802. 2
68634015803. 3
68634015804. 4

Question Number : 52 Question Id : 6863403992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional rainwater harvesting in rural areas is done by using surface storage bodies, like lakes.
ponds. irrigation tanks. ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use

Find the synonym of the word 'diverse' in the paragraph.
1. Method
2. Community
3. Various
4. Areas

Options :

68634015805. 1
68634015806. 2
68634015807. 3
68634015808. 4

Question Number : 52 Question Id : 6863403992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional ramnwater harvesting in rural areas i1s done by using surface storage bodies, like lakes.
ponds. irrigation tanks, ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use



Find the synonym of the word 'diverse' in the paragraph.

1. Method

b2

. Community
3. Various
4. Areas

Options :

68634015805. 1
68634015806. 2
68634015807. 3
68634015808. 4

Question Number : 53 Question Id : 6863403993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional rainwater harvesting in rural areas is done by using surface storage bodies, like lakes.
ponds. irrigation tanks. ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use

Groundwater in mural area is used for

1. Farming

| S

. Fisheries
3. Domestic use
4. Generating electricity

Options :

68634015809. 1
68634015810. 2
68634015811. 3
68634015812. 4

Question Number : 53 Question Id : 6863403993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional rainwater harvesting in rural areas is done by using surface storage bodies, like lakes,
ponds. irrigation tanks. ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use



Groundwater in rural area is used for

1. Farming

| ]

. Fisheries
3. Domestic use
4. Generating electricity

Options :

68634015809. 1
68634015810. 2
68634015811. 3
68634015812. 4

Question Number : 54 Question Id : 6863403994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional rainwater harvesting in rural areas is done by using surface storage bodies, like lakes.
ponds. irrigation tanks, ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use

Surface storage 1s found m-
1. Urban area only
2. Sub-Urban area
3. Everywhere
4. Rural area

Options :

68634015813. 1
68634015814. 2
68634015815. 3
68634015816. 4

Question Number : 54 Question Id : 6863403994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional rainwater harvesting in rural areas is done by using surface storage bodies, like lakes,
ponds. irrigation tanks. ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use



Surface storage 1s found m-
1. Urban area only
2. Sub-Urban area
3. Everywhere
4. Rural area

Options :

68634015813. 1
68634015814. 2
68634015815. 3
68634015816. 4

Question Number : 55 Question Id : 6863403995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional rainwater harvesting in rural areas is done by using surface storage bodies, like lakes.
ponds. irrigation tanks. ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use

The most suitable antonym for the phrase 'Tradition rainwater harvesting' could be

1. Scientific rainwater harvesting

-

. Modern rainwater harvesting
3. Advanced rainwater harvesting
4. Man made ramwater harvesting

Options :

68634015817. 1
68634015818. 2
68634015819. 3
68634015820. 4

Question Number : 55 Question Id : 6863403995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rainwater harvesting has been practised through various methods by different communities in the country for
a long time. Traditional rainwater harvesting in rural areas is done by using surface storage bodies, like lakes,
ponds. irrigation tanks. ete. Significantly, the rainwater harvesting decreases the community dependence or
groundwater for domestic use



The most smtable antonym for the phrase 'Tradition rainwater harvesting' could be

1. Scientific rainwater harvesting

| B

. Modern rainwater harvesting
3. Advanced ramwater harvesting
4. Man made rainwater harvesting
Options :
68634015817. 1
68634015818. 2

68634015819. 3
68634015820. 4

Question Number : 56 Question Id : 6863403996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The question was put -in the parliament.

1. on

| ]

. off
J.up

4. down

Options :

68634015821. 1
68634015822. 2
68634015823. 3
68634015824. 4

Question Number : 56 Question Id : 6863403996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The question was put -in the parliament.

1. on

| ]

. off
3.up
4. down
Options :

68634015821. 1
68634015822. 2



68634015823. 3
68634015824. 4

Question Number : 57 Question Id : 6863403997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the notion of the modal "may" used in the sentence below-
He may live long
1. Blessings
2. Probability
3. Determination
4. Centainty
Options :
68634015825. 1
68634015826. 2

68634015827. 3
68634015828. 4

Question Number : 57 Question Id : 6863403997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the notion of the modal "may" used in the sentence below-
He may live long
1. Blessings
2. Probability
3. Determination
4. Centainty
Options :
68634015825. 1
68634015826. 2

68634015827. 3
68634015828. 4

Question Number : 58 Question Id : 6863403998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



She 1s sitting near --river

1. The

| ]
j*]

3. same

4, an

Options :

68634015829. 1
68634015830. 2
68634015831.3
68634015832. 4

Question Number : 58 Question Id : 6863403998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

She is sitting near --T1Ver

1. The

| B
5]

3. same

4, an

Options :

68634015829. 1
68634015830. 2
68634015831. 3
68634015832. 4

Question Number : 59 Question Id : 6863403999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I proposed that we go to Gandhi Smriti the rest day

1. would

| S]

. could
3. might
4. should

Options :

68634015833. 1
68634015834. 2



68634015835. 3
68634015836. 4

Question Number : 59 Question Id : 6863403999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I proposed that we go to Gandhi Smriti the rest day

1. would

| ]

. could
3. might

4. should

Options :

68634015833. 1
68634015834. 2
68634015835. 3
68634015836. 4

Question Number : 60 Question Id : 6863404000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

He died cancer last week

1. of
2. with
3. from
4 to

Options :

68634015837. 1
68634015838. 2
68634015839. 3
68634015840. 4

Question Number : 60 Question Id : 6863404000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



He died cancer last week

1.of

[

. with
3. from
4. to

Options :

68634015837. 1
68634015838. 2
68634015839. 3
68634015840. 4

Question Number : 61 Question Id : 6863404001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The girl asked the begger whether he had his share.

1. has
2. had
3. did
4. have

Options :

68634015841. 1
68634015842. 2
68634015843. 3
68634015844. 4

Question Number : 61 Question Id : 6863404001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The girl asked the begger whether he had his share.

1. has

| S]

. had
3. did
4. have

Options :

68634015841. 1
68634015842. 2



68634015843. 3
68634015844. 4

Question Number : 62 Question Id : 6863404002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The past participle of the word prove 1s

1. Proved

| ]

. Provent
3. Proven
4. Prooved

Options :

68634015845. 1
68634015846. 2
68634015847. 3
68634015848. 4

Question Number : 62 Question Id : 6863404002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The past participle of the word prove is

1. Proved
2. Provent
3. Proven
4. Prooved

Options :

68634015845. 1

68634015846. 2

68634015847. 3
68634015848. 4

Question Number : 63 Question Id : 6863404003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 18 labelled ag Assertion A and other is labelled as Reason R
Assertion A: I don't know how can I help you?
Reason R: I don't know how I can help you
In the light of the above statements. choose the correct answer trom the options given below
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. A s true but R is false
4. A 1s false but R is true
Options :
68634015849. 1
68634015850. 2

68634015851. 3
68634015852. 4

Question Number : 63 Question Id : 6863404003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: I don't know how can I help you?
Reason R: I don't know how I can help you
In the light of the above statements. choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 13 NOT the correct explanation of A
3. A is true but R is false
4. A is false but R is true
Options :
68634015849. 1
68634015850. 2

68634015851. 3
68634015852. 4

Question Number : 64 Question Id : 6863404004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 18 labelled ag Assertion A and other is labelled as Reason R
Assertion A: Flying plane can be dangerous
Reason R: Both are dangerous i.e. to fly a plane and the plane which flies in the sky
In the light of the above statements. choose the correct answer trom the options given below
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. Ais true but R 1s false
4. A 1s false but R is true
Options :
68634015853. 1
68634015854. 2

68634015855.3
68634015856. 4

Question Number : 64 Question Id : 6863404004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: Flying plane can be dangerous
Reason R: Both are dangerous i.¢. to fly a plane and the plane which flies in the sky
In the light of the above statements. choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 13 NOT the correct explanation of A
3. Ajistrue but R 1s false
4. A is false but R is true
Options :
68634015853. 1
68634015854. 2

68634015855.3
68634015856. 4

Question Number : 65 Question Id : 6863404005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Creates problem

B. Sometimes throwing live into unmanageable danger
C. And poses global environmental challenges

D. The transboundary nature of air, water, soil and birds
E. Related to environmental management

choose the correct answer from the options given below:

1. AC,B.D.E

-J

B, B A C,D
3B A b B
4.C.B.E.A.D

Options :

68634015857. 1
68634015858. 2
68634015859. 3
68634015860. 4

Question Number : 65 Question Id : 6863404005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Creates problem

B. Sometimes throwing live into unmanageable danger
C. And poses global environmental challenges

D. The transboundary nature of air. water. soil and birds
E. Related to environmental management

choose the correct answer from the options given below:
1L.LAC.B.DE
2.B,E.A C,D
3: DAL E B

4. C.B.EAD

Options :

68634015857. 1
68634015858. 2
68634015859. 3
68634015860. 4

Question Number : 66 Question Id : 6863404006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Wodden
B. Round
C. Italian
D. Golden
E. Frame

choose the correct order of words from the options given below:

1.LAE.B.C.D

-J

D.A . C.E.B
3. B.D.A.C.E
4.C.B.D.AE

Options :

68634015861. 1
68634015862. 2
68634015863. 3
68634015864. 4

Question Number : 66 Question Id : 6863404006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Wodden
B. Round
C. Italian
D. Golden
E. Frame

choose the correct order of words from the options given below:

LAE. B €,.D

| ]

.D.A.C.E.B
3.B.D.A.C.E
4. C.B.D.AE

Options :

68634015861. 1
68634015862. 2
68634015863. 3
68634015864. 4

Question Number : 67 Question Id : 6863404007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct sequence of the event happening

A. Death

B. Resurrection
C. Incineration
D. Cannonisation
E. Veneration

choose the correct answer from the options given below:

1L ACHB.E.D

| B

.B.E.D,C.A
3.C., DA, B.E
4. A C. B B

Options :

68634015865. 1
68634015866. 2
68634015867. 3
68634015868. 4

Question Number : 67 Question Id : 6863404007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct sequence of the event happening

A. Death

B. Resurrection
C. Incineration
D. Cannonisation
E. Veneration

choose the correct answer from the options given below:

1.A.C.B,E.D
2.B,E,D,C,A
3.C,D.A,B.E
4.D,A.C.E.B

Options :

68634015865. 1

68634015866. 2

68634015867. 3
68634015868. 4



Question Number : 68 Question Id : 6863404008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: I participate in the function. You can't do something that is immoral
Statement IT: I participate in the function. You can't do anything which is immoral
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement T and Statement IT are false
3. Statement I is true but Statement I 1s false
4. Statement I 1s false but Statement II 1s true
Options :
68634015869. 1
68634015870. 2

68634015871. 3
68634015872. 4

Question Number : 68 Question Id : 6863404008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: I participate in the function. You can't do something that 1s immeoral
Statement IT: I participate in the function. You can't do anything which is immoral
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I 1s false but Statement II 1s true
Options :
68634015869. 1
68634015870. 2

68634015871.3
68634015872. 4

Question Number : 69 Question Id : 6863404009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: She met her cousin brother to request him to come to her birthday party.
Statement IT: She met her cousin to request him to come to her birthday party.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

-J

. Both Statement I and Statement II are true
3. Statement I 1s true but Statement IT is false

4. Statement I is false but Statement II 1s true

Options :

68634015873. 1
68634015874. 2
68634015875.3
68634015876. 4

Question Number : 69 Question Id : 6863404009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: She met her cousin brother to request him to come to her birthday party.
Statement IT: She met her cousin to request him to come to her birthday party.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are true

3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

68634015873. 1
68634015874. 2
68634015875. 3
68634015876. 4

Question Number : 70 Question Id : 6863404010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the pairs of antonyms 1s / are correct-

A. Happy: delighter
B. Relapse: Recovery
C. War: Truce

D. Decline: Refure

choose the correct answer from the options given below:
1.B & C only
2. A& B only
3.A& Conly
4.C & D only

Options :

68634015877. 1
68634015878. 2
68634015879. 3
68634015880. 4

Question Number : 70 Question Id : 6863404010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the pairs of antonyms 1s / are correct-

A. Happy: delighter
B. Relapse: Recovery
C. War: Truce

D. Decline: Refure

choose the correct answer from the options given below:

1.B & C only
2. A& B only
3.A& Conly
4. C & D only

Options :

68634015877. 1

68634015878. 2

68634015879. 3
68634015880. 4

Question Number : 71 Question Id : 6863404011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following sentences is/ are correct-

A. She 1s senior to me
B. She 1s senior than I
C. My friend is more smarter than I
D. My friend is much smarter than I

choose the correct answer from the options given below:
1. A& C only
2.B &D only
3.C&Aonly
4. A & D only

Options :

68634015881. 1
68634015882. 2
68634015883. 3
68634015884. 4

Question Number : 71 Question Id : 6863404011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following sentences is/ are correct-

A. She 1s senior to me
B. She is senior than I
C. My friend is more smarter than I
D. My friend is much smarter than I

choose the correct answer from the options given below:
1. A& C only
2.B & D only
3.C & Aonly
4. A & D only
Options :
68634015881. 1
68634015882. 2

68634015883. 3
68634015884. 4

Question Number : 72 Question Id : 6863404012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following sentences are correct

A. His cousin brother 1s a musician

B. I have to catch 6 o'clock bus at all

C. Can you tell me where is my book?

D. One of my young friends is coming today
E. He walks on foot

choose the correct answer from the options given below:

1. D only

| B

.A & D only
3.B & C only
4.D & E only

Options :

68634015885. 1
68634015886. 2
68634015887. 3
68634015888. 4

Question Number : 72 Question Id : 6863404012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following sentences are correct

A. His cousin brother is a musician

B. I have to catch 6 o'clock bus at all

C. Can vou tell me where is my book?

D. One of my young friends is coming today
E. He walks on foot

choose the correct answer from the options given below:
1. D only
2.A&Donly
3.B & C only

4.D & E only

Options :

68634015885. 1
68634015886. 2
68634015887. 3
68634015888. 4



Question Number : 73 Question Id : 6863404013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Exhale I. jreliable
E. |[Rebuke II. |dusk
C. |Twilight II1. |chide
D. [Credible IV, [Emit

Choose the correct answer from the options given below:

1. A-II. B-III. C-I, D-IV

| )

CA-L B-III. C-IL, D-IV
3. A-IV. B-1TI, C-II, D-1
4. A-IV, B-1I. C-IIL. D-1

Options :

68634015889. 1
68634015890. 2
68634015891. 3
68634015892. 4

Question Number : 73 Question Id : 6863404013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Exhale I. |reliable
B. |Rebuke II. |dusk
C. [Twilight II1. jchide
D. |[Credible IV, [Emat

Choose the correct answer from the options given below:

1. A-IL. B-111, C-I, D-IV

[ )

CA-L B-IIIL, C-IL D-IV
3. A-IV. B-1II. C-II, D-1
4. A-IV, B-11I, C-IIL D-1

Options :

68634015889. 1
68634015890. 2
68634015891. 3
68634015892. 4



Question Number : 74 Question Id : 6863404014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Dearth I. |Liberal in ideas
B. |Tolerant II. [Fickle in behaviour’ mind
C. [Xenophobra II1. lack of anvthing
D |Capricious IV |fear of foreigners

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV.D-II

| )

CA-IL B-IV, C-L D-III
3. A-IILL B-1, C-IV, D-II
4. A-IV, B-11I, C-II. D-1

Options :

68634015893. 1
68634015894. 2
68634015895. 3
68634015896. 4

Question Number : 74 Question Id : 6863404014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Dearth I. |Liberal in ideas
B. |Tolerant II. [Fickle in behaviour/ mind
C. Kenophobra III. lack of anvthing
D. [Capricious IV, |fear of foreigners

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV.D-II

[ )

AT B-IV, C-L D-III
3. A-IL B-1, C-IV, D-II
4. A-IV, B-1II. C-IL. D-1

Options :

68634015893. 1

68634015894. 2
68634015895. 3



68634015896. 4

Question Number : 75 Question Id : 6863404015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Hearty I fhumility
B. [Universal II. [lament
C. varity III. jcool
D. |Rejoice IV |local

Choose the correct answer from the options given below:

1. A-L, B-III. C-II, D-IV

[ )

AL B-IV. C-1, D-II

Lad

AL B-IIL C-LL D-IV
4. A-IV, B-1II. C-I, D-IV

Options :

68634015897. 1
68634015898. 2
68634015899. 3
68634015900. 4

Question Number : 75 Question Id : 6863404015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Hearty I Jhumility
B. [Universal II. [lament
C. |varity 111 |cool
D. |Rejoice IV. Jlocal

Choose the correct answer from the options given below:

1. A-I. B-III. C-II, D-IV

[ B

AL B-IV. C-I, D-II

L¥%]

CACIL B-IL. C-L D-IV
4. A-IV. B-1II. C-LI. D-IV
Options :

68634015897. 1
68634015898. 2



68634015899. 3
68634015900. 4

Question Number : 76 Question Id : 6863404016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR 8 T R TRaE T v

1.7l

= ik

4t
4, eIty

Options :

68634015901. 1

68634015902. 2

68634015903. 3
68634015904. 4

[

L]

Question Number : 76 Question Id : 6863404016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR oy =l Weaw fgdrandye agaa- &4 yald -
1. 1t
I
R
4, THfT:
Options :
68634015901. 1
68634015902. 2

68634015903. 3
68634015904. 4

[ ]

%]

Question Number : 77 Question Id : 6863404017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfctTg ‘a0 Ueawd U ad-TqRey U %+ FuRad-

A TH
B.dH
C.dH
D. &:

E. T

1.D.B,AEC
22D,C.B.AE
3.D.E.A.B.C
4. D. A C.B.E

Options :

68634015905. 1
68634015906. 2
68634015907. 3
68634015908. 4

Question Number : 77 Question Id : 6863404017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gfcig 'ad Weaw Uhad-TgRey Ul 4 HuRyd-

A, T
B.d

C.dq
D. I:
E. a9
1.D.BAEC
2Z2D.C.B.A.E
3ID.EAB.C
1. D.A.C.B.E

Options :

68634015905. 1
68634015906. 2
68634015907. 3
68634015908. 4



Question Number : 78 Question Id : 6863404018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 T fafdforgae R nemgey Ay a9y Fuiftr 9+ -

A. 1
B. WTdH
C. %
D. WaH
E. ¥1d

1. A, B, EhauH
2. A.D.E ®daHq
3.C.B.E aaH
4.C.D.E ®duH

Options :

68634015909. 1
68634015910. 2
68634015911. 3
68634015912. 4

Question Number : 78 Question Id : 6863404018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'3 uTdl: fafafirgae R owmgey fAY a9y =it af= -

A T
B. WAH
C. |:
D. TH
E. ®d

Ty fawed forgd -

1. A. B.E ®aaq
.A.D.E$aaq
3.C.B.EhdaH
4.C.D,E ®aaq

| )



Options :

68634015909. 1
68634015910. 2
68634015911. 3
68634015912. 4

Question Number : 79 Question Id : 6863404019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AHE 3 =Y Hafd -
1. UYHYSY-fgaad
2. BATIRY-UHTT
3. IR Y-agaa
4. HUHGRY-Sga
Options :
68634015913. 1
68634015914. 2

68634015915. 3
68634015916. 4

Question Number : 79 Question Id : 6863404019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ty gfd =Y Hald -
1. TYAgSy-fgaar

2. HAAYTY-Uhdo
3. AHYRY-gga9
4. YYHYRY-Tgaa

Options :

68634015913. 1
68634015914. 2
68634015915.3
68634015916. 4

Question Number : 80 Question Id : 6863404020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYEY fqerd-

DYFH 1 : TS YgIlGla gid Jaeuaal: AU | 59sd. dioISTH, ¢aisiy sargii= Sargonam
qd=ugal: Hid |

HYA 11 : TS REU S Jae a9 YA | Ui, 9l SNl sardi Saeon-ai gas o=

i |

3uR fafadamyFmEIuR 316l &<y fadm ey Ifas S fgd -

1. L 11 340 &Y+ g9 |

2. 1. 11 GHT DYTH IR |
3. 1. Y YOHRE fob] 11 PYTH SIaHRT
4. 1. YTH HHIHRAT fob 11 HYTH FagRd

Options :

68634015917. 1
68634015918. 2
68634015919. 3
68634015920. 4

Question Number : 80 Question Id : 6863404020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
34 HYEY fqerd-

HYTH 1 : 'TS: UGGl §id o= Ua: ARG | g8, dlolsgH, Sdisi sardi= Iams=on-ay
aE O I |

DYTH 1T : 'US R0 i Yd=ua=): AT | Uerd, Uivid, SUivid s Sameun-alt gdeug):
i |

SUR fefade Y TEIyRor $iel gy faeedy Ifdy 9w f=d -

1. L I1 34T Sy IOHT |

2. 1. 11 344 HY-TH SHIHR|

3. 1. Y- IO fobeg 11 SUTH IR

4. L HYFH AR fobg 11 PYTH JIHfEd
Options :

68634015917. 1
68634015918. 2



68634015919. 3
68634015920. 4

Question Number : 81 Question Id : 6863404021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A s afRfdwse: wafd -

1. 9+
2. T+
3. T+
4. TH=d

Options :

68634015921 1

68634015922 2

68634015923. 3
68634015924. 4

Question Number : 81 Question Id : 6863404021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A s afRfdwse: wafd -

1. 99+
2. 9+
3. T+
4, TH=d

Options :

68634015921 1

68634015922 2

68634015923. 3
68634015924. 4

Question Number : 82 Question Id : 6863404022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UAAIRERT 78R & gam: fae 2
1. fgamr:
2. G aUHRE:
3. TR IHHT:
4. SgSI R THATH:

Options :

68634015925. 1
68634015926. 2
68634015927. 3
68634015928. 4

Question Number : 82 Question Id : 6863404022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UAAIRERT 78R & gam: fae 2
1. fgamr:
2. G aUHRE:
3. TSTHATE:
4. SgSI R THATH:

Options :

68634015925. 1
68634015926. 2
68634015927. 3
68634015928. 4

Question Number : 83 Question Id : 6863404023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FAGIEHR TRER A $9d -
T T I
 |eregdivggarEEIGEoE L [REH:

RGO B FHEL|
SHYRGGAIGEIUH_ [ 1L [guridd

S EHTE R GIEuH IV. [HERT:

gferd faeed o -

o|o|w|x

1. A-IIL. B-1. C-IV. D-II
2. A-ILL B-III. C-1. D-IV
3. A-IIL B-IV. C-II. D-1
4, A-IL. B-IV, C-I, D-III

Options :

68634015929. 1
68634015930. 2
68634015931.3
68634015932. 4

Question Number : 83 Question Id : 6863404023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EGIHIYd IR A $od -
e I eI
HOUIHITEHHEIGEL0H| L [FH:

Atk G B [FriEk|
GHYRIGAIERIUH_ [ 111 [gurfdd

S EHTE R GIEuH IV. [HERT:

gferd faeed o -

ofo[w]»

1. A-III. B-1. C-IV. D-II
2. AT B-II1L, C-1, D-IV
3. AL B-TV. C-11. D-1
4. A-I1. B-IV. C-1. D-III

Options :

68634015929. 1

68634015930. 2

68634015931. 3
68634015932. 4



Question Number : 84 Question Id : 6863404024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YAlgaayd RER HeH $od -

gl 1 g 1
AIglaeR: | 1 [F8I0: Oe: e |
FTAGED! | I [§: Olad T3F: |
Wedditd: | 1L [Ser®: arae: |

 [aFed: u@i| v oA wgEaia |

1. A-IIL. B-I1. C-1. D-IV

ol|o|w|r

2. A-IIT, B-TV. C-1. D-II
3. A-IL B-IV, C-I. D-III
4. A-I1. B-III. C-IV, D-I

Options :

68634015933. 1
68634015934, 2
68634015935. 3
68634015936. 4

Question Number : 84 Question Id : 6863404024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yeilgaariyd IRER He- $2d -

gl 1 g1
AIglaeR: | 1 [F8I0: Oe: e |
SUTHAAE | II [9: OG- WF: |
Wodditd: | UL [Ser®: aae: |

\_ﬂﬁﬁﬁ: l;@'"ﬁl: IV mﬂﬁﬂﬁl

1. A-IIL. B-I1. C-1. D-IV

ofo[w]s

2. A-IIT, B-TV. C-1. D-II

3. A-IL B-IV, C-1. D-III

4, A-IL. B-III. C-IV, D-I
Options :

68634015933. 1
68634015934. 2



68634015935. 3
68634015936. 4

Question Number : 85 Question Id : 6863404025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'3ifHer: givd: wEaT Fewn g1 widait of faufd: wgead »

1. fedra
2. e
3. gt
4.9z

Options :

68634015937. 1

68634015938. 2

68634015939. 3
68634015940. 4

Question Number : 85 Question Id : 6863404025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'3ffHS: TRka: THaT Few o1 wfaanr o faufes: ugead 2

1. feeifar
2. el
3. 9qdt
4. o

Options :

68634015937. 1

68634015938. 2

68634015939. 3
68634015940. 4

Question Number : 86 Question Id : 6863404026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TAGY UHAY I e Hi -

A GBdIq
B. $ldd

%

C. gfé:
D. gia:

1. A, C Haaq
.C.Dhaaq
3. A.Bhaayq
4.B.C Haaq

[ ]

Options :

68634015941. 1
68634015942 2
68634015943. 3
68634015944. 4

Question Number : 86 Question Id : 6863404026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—

FAdq UageI- uai af=d -
A.gFaN
B. $Iddl
C. gi&d:
D. E @ﬂ:
gy fdebed fod -
1. A. C DhaaHq
.C.Daay
3.A.B$daq

4.B.C Haayq

| )

Options :

68634015941. 1
68634015942. 2
68634015943. 3
68634015944. 4



Question Number : 87 Question Id : 6863404027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
31Y: PUgd faerd-
HYTH 1 : T YAl U Uedd: Joid o gicer! e, Wity e, Ti9aiay [ed ud =g1i yaf=T |
DY 11 - Ufdear. fafaar, (. @ifdar sanfduey go- vas: faed |
U TARITHYAHIIYRUT 3¢l 3y [dedy Sy S o -
1. I I HY Sy YaHfE |
L 11 34T SHYTH AHIHRT|

3. 19y GO U2 11 ST 8|

[ ]

4. 1 PYTH, FIHRT W 11 HY- T |
Options :
68634015945. 1
68634015946. 2

68634015947. 3
68634015948. 4

Question Number : 87 Question Id : 6863404027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
31Y: PUTgd faerd-
SYFH 1 : T YAl 2 Ydd: o o] Yicer| [UaH, Fiferg [Uawil, AYTd crg [Uad Ua wuiur yaf- |
HYH 11 - Ui, fafan, fyw, @ sanfegey g va: fae |
U AP YAFTHIYRU 3ot &0y fdd ety TfPas I o -
1. 111 3HT Sy GOAK |
L 11 34T HYTH SHIHR |

3. 1 PY- GOURET U 11 HYTH I |

[ ]

4. 1 PYTH, RIHRRT W 11 HY- 9|

Options :

68634015945. 1
68634015946. 2
68634015947. 3
68634015948. 4



Question Number : 88 Question Id : 6863404028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3HY: ARy [agd. ThH 3THHYTH A &, 3R HRU R K-
HIYDYTH A : ST07% &R I | Sid Tras AR |
HRUM R : Tdife T urdl: A1 Iqdf faufes: vafd |
U TARITHYAHIIYRUT 3¢l 3y [dedy Sy S o -

1. ATd R SHYHd TOH Ud R, A SO THIT] oA 3HiEd |

[ ]

. ATd R IYTHd HOH TR R, A TS G971 A1 |
3. A GO W R 3ETT |
4. A 3IART TR R 99 |

Options :

68634015949. 1
68634015950. 2
68634015951. 3
68634015952. 4

Question Number : 88 Question Id : 6863404028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: AIFIEY [aTd, UhH HHYTH A &, R HRU R K-

HIYDYTH A : 107 &R T | 3id arrasHR |
BRUM R : Talfe o uTak: TR Fqdf faufad: wafd |
SUR ffaaey=T-TEgRT sie gy fae ey wef=ray ST =&d -

1. ATd R IHGHd TH Ud R, A ST THIT] oA i |

[ ]

. ATUd R SHIHT H&H U1 R. A SR FH7] GRe A1 |
3. A TGO W R 3EdY |
4. A 3 IHRET R R 9 |

Options :

68634015949. 1
68634015950. 2
68634015951. 3
68634015952. 4



Question Number : 89 Question Id : 6863404029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g i &

A. F: UTUId S |
B. T: WU aHid |

C. oTH: qﬁgaw |

Options :

68634015953. 1
68634015954. 2
68634015955. 3
68634015956. 4

Question Number : 89 Question Id : 6863404029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
E i E
A. : Y9I S |

B. I: YU a4fd |

C. oTe: Y i |
D. TYR: 9 Jafd |

Ty fawed forgd -
1. A. B PHaaq
2. B, C Hhae]
3.C.D $daq
4. A. D Haaq

Options :
68634015953. 1
68634015954. 2



68634015955.3
68634015956. 4

Question Number : 90 Question Id : 6863404030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
quITHT SRR 5l %H M -

A SMgafdwifsay

B. 9¥ A

C. TR

D. GE=dAPT

E. B3Il
Baaq

-4

1.B.CAED
2. DB, B A C
3B, D,E A C
4. D, C.AE.B

Options :

68634015957. 1
68634015958. 2
68634015959. 3
68634015960. 4

Question Number : 90 Question Id : 6863404030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qUIHT TRATTHR T4 B HeRad -
A. SMEafd@itsad
B. YA
C. FTRI
D. gg=ifdead]
E. T=RpI=l
$aay

-4

1.B.CAED
2B B A E
3B 1B A
4. D.C.A E.B
Options :
68634015957. 1
68634015958. 2

68634015959. 3
68634015960. 4

Question Number : 91 Question Id : 6863404031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: HYTEY faerd-
BUAH T - "SARIGIRATEAHTSN, UIS1 T -IGUSard: ' §id SU-=asi=s-a4: T&UHRT |
DYTH I : "cdHd HIdT d fUdl @Ha 3id SUsdur=-<4: SaIERUHERT |

TUR [ARITPUT-TIIYRU 3¢ g0y faeedy Siay o o -

1. 111 34T HU= JaaR |

2. 1. 11 344 SHY-TH SHIHRK|
3. 1 DY, FOuKT foo 11 3y &
4. 1PYTH SIHRK fob=g 11 DU AR |

Options :

68634015961. 1
68634015962. 2
68634015963. 3
68634015964. 4



Question Number : 91 Question Id : 6863404031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: HYTEY faerd-
BUAH 1 : "SARIGIRATEAHTS, U151 T AIgUecard: ' §id SU-=asi=5-a4: T&UH |
DYTH I : "cdHd HIdT d fUdl @Ha 3id SUsdur=o-<4: SaIERUHET |

TUR [ARITPUT-TIIYRU 3¢ g0y faeedy Siay o o -

1. 111 34T HU= JaaR |

2. 1. 11 IHY YT AT |
3. 1 DY, FOuKT foo 11 3y &
4. 1HYH TR foog 11 U= AR |

Options :

68634015961. 1
68634015962. 2
68634015963. 3
68634015964. 4

Question Number : 92 Question Id : 6863404032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG E Yo FuHA NI 3fd o8 HagRE dauHE 2
1. SUHTT:
2. U

3.0y

4. 9HHT

Options :

68634015965. 1
68634015966. 2
68634015967. 3
68634015968. 4

Question Number : 92 Question Id : 6863404032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TREE Yax Ui 2fd o5 JaeRe aaumi 2
1. SUHTT:
2. ISEL:
3. ¥y
4. 9D

Options :

68634015965. 1
68634015966. 2
68634015967. 3
68634015968. 4

Question Number : 93 Question Id : 6863404033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"SUE: WU .......... TR I 5004 Rad ®IFH Rad

1. g d:
2. sy
3. ayEsfy
4. 0T

Options :

68634015969. 1

68634015970. 2

68634015971. 3
68634015972. 4

Question Number : 93 Question Id : 6863404033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"AAIT: e ............ TR I o7 e = Rad
1. Fed:
2. TS
3. qursfy
4, PHT

Options :



68634015969. 1
68634015970. 2
68634015971. 3
68634015972. 4

Question Number : 94 Question Id : 6863404034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRIUTT &0 Bid 2
1. GIGRT
2. AT
3. 9dqy
4, STBTERT

Options :

68634015973. 1
68634015974. 2
68634015975.3
68634015976. 4

Question Number : 94 Question Id : 6863404034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

QRO T Bid 2

1. glaxI

2, A
3. 9t 0=
4. PR

Options :

68634015973. 1
68634015974. 2
68634015975.3
68634015976. 4

Question Number : 95 Question Id : 6863404035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Helgaar ¥ IRER He $od-

g1 Gl
A [gEyg L [g=
B. [0Tg! 1L [ifauq
C. [aoy 111 [cHTd 0T
D. [F&: IV. [FRI&T

qyfrd faehed f=d -

1. A-IL, B-IV, C-I. D-III
2. A-IIL, B-1. C-IV. D-II
3. A-IIL, B-II, C-IV, D-I
4. A-IL, B-I, C-IV, D-III

Options :

68634015977. 1

68634015978, 2

68634015979. 3
68634015980. 4

Question Number : 95 Question Id : 6863404035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EGaHIYd IRER 7 $od-

g1 Gl
A [gEq L o=
B. [0Tg! 1L [ifauq
C. [poy 111 [cATE 0
D. [F&: IV. [FRI&T

qyfrd faehed f=d -

1. A-IL, B-IV, C-I D-III
2. A-IIL, B-1. C-IV, D-II
3. A-TIL, B-II, C-TV, D-I
4. A-IL, B-I, C-IV. D-III

Options :

68634015977. 1

68634015978, 2

68634015979.3
68634015980. 4



Question Number : 96 Question Id : 6863404036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QELI YA quiH S U= fderd 2

1. Tiiamary

b

X0
3. HETHRd

4. TamoqgRTOY

Options :

68634015981. 1
68634015982. 2
68634015983. 3
68634015984. 4

-

Question Number : 96 Question Id : 6863404036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QrEsl UEy quiH S 9 faerd 2
1' .
2, AR
3. HETHRA

4. TamoqgRTOY

Options :

68634015981. 1
68634015982. 2
68634015983. 3
68634015984. 4

Question Number : 97 Question Id : 6863404037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty WUSHIed ford -
1. YA
2. fepraref s
3. HUgH
4. ATCAPIAFE

Options :

68634015985. 1
68634015986. 2
68634015987. 3
68634015988. 4

Question Number : 97 Question Id : 6863404037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uy GosIed fd -
1. gaRH
2. formare-fiam
3. HugaH
R INICEgIPIEe

Options :

68634015985. 1
68634015986. 2
68634015987. 3
68634015988. 4

Question Number : 98 Question Id : 6863404038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AeTHRd TaieM SEisia -

1. UbTg &y
ReCi ity

[ ]



Options :

68634015989. 1
68634015990. 2
68634015991. 3
68634015992. 4

Question Number : 98 Question Id : 6863404038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AeTHRd TaieM SEisia -

1' [ i s
2. THAgH
3. THHEHY
4' [ \
Options :
68634015989. 1
68634015990. 2

68634015991. 3
68634015992. 4

Question Number : 99 Question Id : 6863404039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
grawiided & Siidd, B0 el g fUdq |
YT 68 GRIES $a: ||

BT 3 SicaiEdisy wdie: 2
1. SFERH
2. dlgagH
3. AEI®ERHA
4. UTIEIA

Options :

68634015993. 1
68634015994. 2
68634015995. 3
68634015996. 4

Question Number : 99 Question Id : 6863404039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
grawiided & Siidd, B0 el g fUdq |
HEIYAW 358 TRIES §d: ||
B & Sfeafadisd weie: 2

1. SFEx
2. digedA
3. ATafd e
4. UIEYA

Options :

68634015993. 1
68634015994. 2
68634015995. 3
68634015996. 4

Question Number : 100 Question Id : 6863404040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- ETY-3URUeT Td ¥ g Uak: 9l 2

1. 9HY
2. o=
3. YIOmETHE
4. UdleRyY

Options :

68634015997. 1

68634015998. 2

68634015999. 3
68634016000. 4

Question Number : 100 Question Id : 6863404040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- S-S Y- 39 Ie] Ud &5 grTg < Y&l w1 2

1. OHH
2. froa=
3. WU
4. UAERY

Options :

68634015997. 1

68634015998. 2

68634015999. 3
68634016000. 4



